Cauchy-Schwarz-Buniakowski [ U 0O O O O [

20100 70 31000

0 O

1 Cauchy-Schwarz-Buniakowski 0O 0 [0 [J

1.1 0oogbooooo

1.2 Cauchy-Schwarz-Buniakowski 0 0 00O 0O OO

1.3 boogbobobooodgn

gon

(20100 70 31000)

1 Cauchy-Schwarz-Buniakowski [ [ [ [

1.1 gooooood

00 vooOoOoo cCOo0o0ooooooooooD. (0000 00oooooo.
gobobooooob,oggoobbboooobbboog. gobobboooon
gbbobod.goobobbbouoooobbboooobbobooo,bbbbooodn

O0000000oooooooo.)

00 ( ):VxV—-COUOO(UOOO0O0)00OO0O0O0D0ooooooooooo

ogoooooa:
(a,b+c) = (a,b) + (a,c),
(a,ab) = afa,b),

(b,a) = (a,b) (a,beV).

(a,a) 20 (a€C).

(a,a) =0 = a=0

(a+b,¢) = (a,c) + (b,c)

(aa,b) = a(a,b)

(a,b,ce V).

(a,beV,aeC).

(aeV).

00 (1)000000 (2)000000(3)0000 (1)000000(2)0000000
0.00()00000000000000000000000000:

(2 {aa,b) = afa,b),

(a,ab) = &(a,b)

(a,beV,acC).



0000000000 (2)000000.
00 (,)0000000 ||| 0

llal| = V/{a,a) (a€V)

0000.00 (40000 (6,¢)200000000000.00000000000
000000000 (4),(5),(2)00000000000000000:

6) lallz0 (aeV).

(M) la|l=0 = a=0 (acV).
®)  laal| =lallla]] (e €V, aeC).
(00O0O0:0000.)

01.1.000000000 n000 (0)0D0000O000OO0 COODOOOOOOC
OOooOo.Cr00b0b0b0ob0 nx1O0O0O0OODOODOODODOO.DODO

n

(a,b) =a'b=>Y @b (a=la]ly, b= b}, a;b; €C)
=1
O Cr000oopoooo. (Doo0:0000.) 000 «*0 000 ((QOOO0O
0)000. 00000 C*00000000oooooooo. []

0 1.2. H=[h;] 0 nxn0O Hermite 00 (0000 H*=HOOOOOOOOODO)
00000,HO0000(00000)0000000000000. 0000

(a,b)y = a*Hb =Y @hib;  (a =[]y, b=[bl,, a;,b; €C)
=1
0 CrO000000000. (0000:0000.)
00 C'0000000000000000000000. (0000:0000.)
00000000000000000000000000000. 000000000
00000,00 ()0G)D0O00000000000000000000000000
00000000000 0000000000000. 0

0 1.3.000 [0,0] (a<b)000000000000000000000000O00O0
00 C%[e,0]) 00OO0. 0000

(f.g) = /f ryde (f,9€C[a,b])

0 C%e,b) 000000000, (0000:0000. (53)000000000000.)
DDDDDDDDDDDDDDDDDDDDDDDD«?DDDDDDDDDDDD
000000000000000000000000000. [



01.4.RO000000000000000000000000000000 L¥R)00
00 (00000000 Lebesgue 0000000000). 00 (,): L3 (R)xL2(R) — C
0

(f.g) = / F@g(e)dr (f.9 € IA(R))

O000. (D000 Cauchy-Schwarz-Buniakowski 0000 00 0O well-defined O 0O O
00000000000000000000000.) D0 oD0OooooooDoOoOoOo
ooooo (,)000 (1)b4OooooOoU0oo,00 ()DUoooooUoooOoo
000000000000oo0. 000,00 0000000 0O0OOoODODODOOO (DO
0000000 o000O000OoO0UOoOOo0oooooooooooog), ()
OooooOoOoooooooo. ]

1.2 Cauchy-Schwarz-Buniakowski 00 O OO OO

Cauchy-Schwarz-Buniakowski O O 0 0 O Cauchy-Schwarz D0 OO0 00000000
O0,Schwarz D0 O00000DOODOOODOO.

00 1.5 (Cauchy-Schwarz-Buniakowski 00 00). VO COOOOODOOOOOOO
O,(,)0 VO0OOOOODODODOOOO.0000O0OoOOoO0o0ooOooOO:

[{a, 0) = [lal[loll  (a,b € V). (1.1)

00.0000000000 ()0 (0000000 (7D)00000o0ooo.
a,beV 000000 2000 f(2)0 f(z)=(ra+bra+b) 0000. 00000
0400 fx)20(@eR)000,00 (1), (2),3) 000000000,

f(z) = ||a||*2® + 2 Re{a, b}z + ||b]|* (z € R).

(0000:0000000b0DODoOoooooo.)
f(xyDODOOODOOODODOODOOOOOOOODODODDOOOOO:

| Re{a, b)| < llal[ o] (a,b€ V). (1.2)

la|l=0000 f(z) 0000000000. 00000000 2Re(q,b) 0 0000
000 f(z) 00000000000 Rele,p)=0000000000.0000000
(12) 00000000000,

la]| #0000 f(z) 00000000, f(z)20(xeR) 0000000 DO 0O
0O00000000000:

D
7 = (Re(a,0))” = [al[*[b]* = 0.

0000000 (1.2)000.

000 (1.2) 0000000000 (1.1)00000oooag.

{a,b) O {a,b) = [{a,b)|e? (0 e R)D0000. d=a,b=e%000. 000000
(2) (000 (20000000000 8)00

'l = llall, |1l = bll, (', b) = (a,e7"b) = e™{a,b) = |(a,D)].

3



000 |Re(d, b)) =|{a,b)| 000. 000000 (1.2)0 «, ¥ 000000
|(a, b)| = [Re{a", b')| = [|a/[ |[t']] = [lal[]|0]].
000000 (1.1)0o0ooo. 0

gbbob:-oodgobbbuodgobbouodobobbboodobn.

1.3 U00ooobooogood

00 1.6 (0000000000000O000). VO COO0000O0O0000O0O00,
(,)0vOoOoOoOoooooOoOoOo,||||0000000000000o0ono0n. 000
00o00o0o0o0o0o0o00:

lla+ 0[] = [[a]| +[o]]  (a,b€V). (1.3)
00. |la+b2< (la|| +|]p|)? CODOOD. 0O0DOODOOOOD
lla +b||* = {a+b,a+b) =||a||* + 2 Re{a, b) + ||b]|*.

0oo
(lall + 1I6]))* = {a + b,a+b) = |lal|* + 2{|al|[b]] + 1]5]|*

00000 fla+bl* = (all + [p])* D
Re{a, b) < [lal] [[b]]

O000000. 000000 Cauchy-Schwarz-Buniakowski 0000 (1.1) DO0OOOO
00o0o00oo0o0o (1.2)ooooooooog. ]

goob:dggobbbogdgobobooooobbboooonon.



